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46,020,676 41,842,672 4,178,004
37,795,667 35,872,113 1,923,554
1: 18,208,777 17,870,311 338,466
1- 18,208,777 17,870,311 338,466
4,115,365 4,114,899 466
(3410-341A-120-202-01)
75,800 * 2 *3 *3 =1,365
1,365,000 - 899,000 = 466
8,815,000 8,477,000 338,000
(3410-341A-420-309-02)
= 338,000
2: 17,497,910 15,953,910 1,544,000
2- 12,482,620 10,938,620 1,544,000
5,604,000 4,261,000 1,343,000
(3410-341B-210-403-01)
( 3.736.000)
= 5,604,000
( 3.736,000,000)  ( 3.736.000,000) 0)
5,604,000,000 - 4,261,000,000 = 1,343,000
1,002,000 801,000 201,000
(3410-341B-210-401-01)
( 501,000)
= 1,002,000
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1,002,000,000 - 801,000,000 = 201,000
4: 2,055,121 2,014,033 41,088
4- 972,011 970,923 1,088
931,831 930,743 1,088
(3410-341C-120-202-01)
75,800 *2 *3 *7 =3,184
3,184,000 - 2,096,000 = 1,088
4- 1,083,110 1,043,110 40,000
307,000 267,000 40,000
(3410-341D-220-307-05)
= 307,000
307,000,000 - 267,000,000 = 40,000
3,071,783 3,064,740 7,043
(3410-341A-120-301-09)
65,000 * 10 * 12 = 7,800
((40,000 * 4 ) + (44,000 * 8 )) * 10 = 5,120
12,920,000 - 10,386,000 = 2,534




( )
75,800 * 3 *3 *15 = 10,233
10,233,000 - 6,737,000 = 3,496
(3410-341C-120-301-09)
65,000 * 4 * 12 = 3,120
((40,000 * 4 ) + (44,000 * 8 )) * 4 = 2,048
5,168,000 - 4,155,000 = 1,013
5,153,226 2,905,819 2,247,407
(3410-341B-420-802-01)
= 19,118
= 33,107
(3410-341D-420-802-01)
= 328
(5410-541A-410-801-00)
= 2,316,486
= 199,494
2,515,980,000 - 321,126,000 = 2,194,854




